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| eq74a - omega[a,b]*cod(-a) contraction of SSSeq72

\ 4

> read "EFE" : read "SFE" :read "fids" :read "Seneqs80" :

[ from SSSeq72¢

>temp = ((-12*PU* p"" +24* p" "2 +4* p"") *Psi™4 + (36* p'"3 +24* p""2) *Psi
A2) *omega™* omegal -4 ]* omegala, b]=0:T(%);

((-12 PUp" +24 p* + 4 p') ¥' + (36 p? + 24 p*) ¥) v 0" =0 (1.1)
B
;so either
>templ == op(1,0p(1,temp)) =0:T(%);
(-12PUp"+24pP +4p) ¥ + (36 p® +24p?) ¥ =0 1.2)
[OR
> temp2 = op(2, op(1, temp))-op(3, op(1, temp))op(4, op(1, temp)) =0 :T(%);
v o *"=0 (1.3)
[ which is SSSeq74b
In this case we look at temp2
>

| Now from SSSeq72a and SSSeq72b

> temp3 :=-12* p"6 * Psi* mu”2 * theta”4-12 * p" 6 * Psi* p~2 * theta™4 - 18 * p" 6 * Psi
*mu”3 * theta”2-54* p' "6 * Psi* p"3 * theta"2 + 36 * p" 4 * Psi*5 *mu”3 * omega”2
-8%* p" "3 *PsitS *mu”2 * omega™4-8* p' 3 * Psit5 * omegat4 *pt2 + 108 % p' N4
*Psin5 * omega™2 * pr3-144* p" A5 * Psit3 *mu”2 * omega”4 - 144 * p"* A5 * Psit3
*omega™4 *p"2 +6* p" 3 *Psi”5 *mu”3 * omegat2 + 18* p’3 * Psi®5 * omega”2
*p3 +36%* p" S5 *Psit3 *mut3 *omega”2-48 * p' 4 * Psit3 * mut2 * omega”4-4/3
*p" N E Psif3 * mu”2 * theta”4-48 * p' 4 * Psi®3 * omega™4 * p~2 + 108 * p" "5 * Psi
A3 * omega™2 * pr3-4/3%* p" "4 * Psit3 * pi2 *theta™4 + 24 * p" 4 * Psit3 * mun3
*omega”2-4* p' "4 *Psi”3 *mu”3 * theta”2 + 72 * p" 4 * Psi*3 * omega™2 * p3-12
* p"" N4 *Psin3 * pA3 *theta”2-24* p" M EPsit3 *mut3 *p-66* p' 4 * Psit3 Fmut2
*pr2-T72% p" M EPSIN3 Fmu* pr3-120* p' 4 * PsiNT * mut2 * omega™4-120* p' N4
*Psin7 * omega™4 * pr2-20* p" 3 * PsiN7 * mu”2 * omega™4-20* p" "3 * PsitT
*omega™4 * pr2-252% p" A5 *PsitS F*mut2 * omegat4-252* p" NS * PsitS * omega™4
*pr2-180%* p" 4 * PsiAS * mu”2 * omega™4-180* p'4* PsiS * omega™4 * p”2-216
* p"N6 * Psit3 * omega™4 *mu*p + 108 * p" 7 * Psi* omega”2 * theta”2 * mu”2 + 108
* p""NT* Psi* omega™2 * theta”2 * p~2-96 * Psi®7 * mu”3 * omega™4 * p'"" "2 *p-144
*PsiN7 * mu”2 * omega™4 * p" A2 * pr2-96 * PsitT * omega™4 * pr3* p'" 2 * mu + 216
*°p""NT * Psi* omega™2 * theta®2 *mu* p-72* p" 4 * Psi*3 * mu”3 * omega™2 * p"”
*theta”2-72* p" "4 * Psi*3 * omega™2 * p"3 * p'" * theta”2-216* p" "4 * Psi"3 * mu"2
*omega™2* p'" *theta™2 *p-216* p' 4 * Psi”3 * mu* omega™2 * p"" * theta"2 * p"2




-36* p" 2 *Psit5 *mut2 * omega™2 * p" *theta”2 *p-36* p' 2 * Psi®5 * omega™2
*pr2* p" *theta™2 *mu-12* p" 2 * Psi6 * mu”3 * omega™ p""* omegala ] * omegal
-A]-12%* p" "2 *Psi"6 * omega* p”3 * p"" * omegaa]* omega[ -A4]-18* p" "2 * Psi”5
*mu”4 *omega2 * p'""-54* p' 2 * Psi5 * omegat2 *pr4* p'"t 4+ 108 * p' 2 * PsinT
*mu”3 *omega™4 * p'" 4+ 108 * p' 3 *Psi®5 *mu”3 * omega™4 * p"" + 108 * p'"3
*Psit5 * omega™4 * pr3* p't 4+ 8* p" * Psit7 *mu”3 *omega™4 * p' +8* p'* PsinT
*omega™4 * p"3* p"" + 108 * p" 2 * PsitT * omegat4 * p3* p't +T72* p' 2 * Psins
*mu”3 *omega4 * p'" 4+ 72* p" 2 * Psit5 * omegat4 * pr3* p' =24 * PsiNT * mut4
*omega™4 * p'"""2-24*Psi™7 * omegatd * pr4E p" A2 -108 * p 6 * Psi”3 * omegat4
*mu”2-108* p" 6 * Psi”3 * omega™4 * p”2 + 24 * p" * Psi*7 * mu”2 * omega™4 * p
*p'" +24* p"*F PsiNT * mu * omegat4 * p2* p''t + 324 % p A2 * PsitT *F munt2
*omega™4 *p* p"" +324* p" 2 *Psi™7 *mu* omegatd ¥ pr2* p't + 324 * p'' A3 * Psi
AS*mu”2 *omegat4 *p* p"" +324* p" 3% PsitS Fmu* omegatd Fpr2* p't-12
*p" 2 PsitS *mu”3 *omega2 * p' * theta”2 + 216 * p' 2 * Psit5 * mu”2 * omega
NMEpE P 4+ 216%* p" A2 * PsitS * mu* omegat4 * pi2* p't-12% p" 2 * PsitS * omega
A2* pi3* p' *theta”2-108 * p" 2 * Psi®S * mu”3 * omega™2 *p * p'""-216* p'"2
*PsinS *mu”2 * omega™2 * p2* p" =180 * p' 2 * PsitS * mu * omegat2 *p/~3* p'”

+ 48 * p" 74 * Psi®6 * mu * omega*® p * omega[a ] * omega[ -4] + 8 * p'"3 *Psi"6 *mu
*omega* p * omegala]*omegal -4] + 72* p""5 * Psi™4 * mu * omega* p * omegal a ]
*omegal -A] +48* p" "4 *Psi™4 * mu* omega* p * omega[a]* omega[ -4]-36* p""2
*PsiN6 * mu”2 * omega™® p'" * omegala]* omegal -4 ]* p-36* p' 2 *Psi®6 * omega* p
A2* p'" * omegala]*omegal -4]*mu +4* p" 3 *Psi”6 * omega™ p”2 * omegala ]
*omegal -A4] + 8* p""3 *Psi”5 * mu* omega”2 * p * theta®2 + 36 * p""5*Psi™4 *mu
A2 *omega™® omegala]* omegal -4] +36* p" 5 * Psi®4 * omega™® p2 * omegala ]
*omega[ -4] + 96 * p" 5 *Psi"3 * mu* omega™2 * p * theta”"2 + 24 * p" "4 * Psi*4 * mu
A2 * omega™® omegala]* omega[ -A] + 24 * p" 4 * Psi®4 * omega* p"2 * omega[ a ]
*omegal -A] + 32* p" "4 *Psi"3 * mu* omega™2 * p * theta”2 + 144 * p"*6 * Psi* mu
*omega”2 * p * theta"2 + 24 * p" "4 * Psi6 * mu”2 * omega™ omegala | * omega[ -4 |
+24* p" "4 * Psi®6 * omega*® p”2 * omega[a ] * omega -4 ] + 48 * p' 4 * Psi*5 * mu
*omega”2 * p * theta™2 + 288 * p'*6 * Psi*3 * mu * omega™2 * p * theta”2 +4* p""3
*Psi”6 * mu”2 * omega™® omegala | * omega[ -4 ] + 144 * p""6 * Psi*3 * mu”2 * omega
A2 *theta”2 + 144 * p" 6 * Psi*3 * omega’2 * p"2 * theta™2 + 42 * p"3 * Psi*5 * mu
*omega™2 * p"2 + 180 * p" A5 * Psi®3 * mu”2 * omega™2 *p + 16 * p" 4 * Psi”*3 * mu”2
* omega”2 * theta"2 — 96 * p" 4 * Psi*3 * mu * omega™4 *p + 252 * p" 5 * Psi”3 * mu
*omega™2*p”2 —8/3* p"M*EPsi”3 *mu*p *theta™4 + 16 * p" 4 * Psi*3 * omega™2
*p/2 *theta™2 + 120 * p" 4 * Psi®3 * mu”2 * omega™2 *p — 20 * p"4 * Psi*3 * mu”2
*p*theta”2 + 168 * p" 4 * Psi*3 * mu* omega™2 * p"2 — 28 * p" "4 * Psi*3 * mu * p~2
*theta”2 — 240 * p"*4 * Psi*7 * mu * omega”4 *p — 40 * p"*3 * Psi*7 * mu * omega”4
*p —504* p"S5*Psi®S *mu* omega™4 * p + 30 * p" 3 * PsitS * mu”2 * omegat2 * p
+ 72% p" "6 * Psi* mu”2 * omega™2 * theta®2 — 24 * p"6 * Psi* mu * p * theta™4 + 72

* p"N6 * Psi* omega™2 * p2 * theta”2 — 90 * p" 6 * Psi* mu”2 * p * theta2 — 126 * p"
A6 * Psi*mu* p”2 *theta”2 + 180 * p' 4 * Psi*5 * mu”2 * omega™2 *p + 4 * p""3 *Psi
A5 *mu”2 * omega”2 * theta”2 — 16 * p" 3 * Psi™5 * mu* omega™4 * p + 252 * p'"*4
*Psi®S *mu* omega™2 * p2 +4* p"3 * Psit5 * omega™2 * p~2 * theta™2 + 48 * p'NS
*Psit3 * mu”2 * omega™2 * theta”2 — 288 * p"™5 * Psi”3 * mu * omega™4 * p +48* p"
A5 *Psi3 * omega™2 * p~2 *theta”2 + 24 * p" 4 * Psi™5 * mu”2 * omega”2 * theta"2
—360* p" 4 *Psi”5 *mu* omega™4 * p + 24 * p' "4 * Psi*5 * omega’2 * p”2 * theta™2
—3* p""MEPsiN3*mutd —27* p"rMAFPsin3*prd=0:T(%);
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>

;Here we contract temp3 with omega[a,b] and use temp2
> convert(temp2, string);

"omega*omegal-A]*omega[a,b] = 0" (1.5)
> temp4 = expand(omegala, b]-temp3) : T(‘V)'
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=> #temp5 :=TEDS(temp2, op (7, op (1, temp4))) : T(%);

=> #nops(op (1, temp4));

j>#0p(89, op(l,temp4));

>

> #for i from I to nops(op(1, temp4)) do
# print(i, TEDS(temp2, op (i, op (1, temp4))));
# end do;




;subs temp3 into temp4

> temp5 = collect(expand(TEDS(PUZp + mu, - 3 TEDS(tjmp, tempd) )), [P, p’]j :
p'-Psi

T (%);
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=> op (3, lhs(temp5));
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:This proof of eq74a is incomplete
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